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Question Number : 1 Question Id : 1780703716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Micro-organisms responsible for nitrification are

1. Nitrosomonas and Nitrobacter
2. Nostoc and Anabaena

3. Rhizobium and Azotobacter

4, Clostridium and Pseudomonas

Options :

17807014701. 1
17807014702. 2
17807014703. 3
17807014704. 4

Question Number : 1 Question Id : 1780703716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

17807014701. 1
17807014702. 2
17807014703. 3
17807014704. 4

Question Number : 2 Question Id : 1780703717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Widal test is designed specifically for the diagnosis of

1. Tuberculosis
2. Typhoid
3. Dengue
4. Chikungunya

Options :

17807014705. 1
17807014706. 2
17807014707. 3
17807014708. 4

Question Number : 2 Question Id : 1780703717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014705. 1
17807014706. 2
17807014707. 3
17807014708. 4

Question Number : 3 Question Id : 1780703718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The genetic material in retroviruses are

1. RNA

2. ssDNA

3. dsDNA

4. ds circular DNA

Options :

17807014709. 1
17807014710. 2
17807014711. 3
17807014712. 4

Question Number : 3 Question Id : 1780703718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. AU (RNA)

2. THUHSITAT. (ssDNA)

3. SITHSITAT (dsDNA)

4. 3. TH. (ds) TOIPR SLTAT. (DNA)

Options :

17807014709. 1
17807014710. 2
17807014711. 3
17807014712. 4

Question Number : 4 Question Id : 1780703719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Barr body is found in

1. Normal female germ cell

2. Normal male germ cells

3. Normal female somatic cells
4. Normal male somatic cells

Options :

17807014713. 1
17807014714.2
17807014715. 3
17807014716. 4

Question Number : 4 Question Id : 1780703719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014713. 1
17807014714.2
17807014715. 3
17807014716. 4

Question Number : 5 Question Id : 1780703720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Superoxide dismutase is invelved in the conversion of

1. NADP to NADPH

2. Superoxide to Hydrogen peroxide
3. Hydrogen peroxide to hyphohalite
4. FAD to FADH

Options :

17807014717. 1
17807014718.2
17807014719. 3
17807014720. 4

Question Number : 5 Question Id : 1780703720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014717. 1
17807014718.2
17807014719. 3
17807014720. 4

Question Number : 6 Question Id : 1780703721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a characteristic of a secondary immune response?

1. 1gG isotype

2. Low affinity antibodies
3. High affinity antibodies
4. Short or no Lag phase

Options :

17807014721. 1
17807014722.2
17807014723. 3
17807014724. 4

Question Number : 6 Question Id : 1780703721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014721. 1
17807014722.2
17807014723. 3
17807014724. 4

Question Number : 7 Question Id : 1780703722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Malignant cancer cells have all of the following properties except

1. unregulated cell division
2. inhibition of angiogenesis
3. resistance to apoptosis

4. cellular immortality

Options :

17807014725. 1
17807014726.2
17807014727.3
17807014728. 4

Question Number : 7 Question Id : 1780703722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014725. 1
17807014726. 2
17807014727. 3
17807014728. 4

Question Number : 8 Question Id : 1780703723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
How do eukaryotic genome differ from prokaryotic genomes?

1. DMA is circular and single stranded in prokaryotes

2. Intervening sequences are present in eukaryotic DNA
3. DNA is complexed with histones in prokaryotes

4. DNA is organised into operons in eukaryotes

Options :

17807014729. 1
17807014730. 2
17807014731.3
17807014732. 4

Question Number : 8 Question Id : 1780703723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014729. 1
17807014730. 2
17807014731. 3
17807014732. 4

Question Number : 9 Question Id : 1780703724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Each individual antigenic determinant of the variable region of the antibody is referred to as:

1. paratope
2. epitope

3. agretope
4. idiotope

Options :

17807014733. 1
17807014734.2
17807014735. 3
17807014736. 4

Question Number : 9 Question Id : 1780703724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014733. 1
17807014734.2
17807014735. 3
17807014736. 4

Question Number : 10 Question Id : 1780703725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following physiclogical effects is caused in plants by gibberellic acid?

1. Shortening of genetically tall plants
2. Elongation of genetically dwarf plants
3. Rooting in stem cuttings

4. Yellowing of young leaves

Options :

17807014737. 1
17807014738.2
17807014739. 3
17807014740. 4

Question Number : 10 Question Id : 1780703725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Fafafad § 9 o 91 IRRfEaEs u4e gl J fefem ofd Ufis) & R gl &2

1. HHAIRS ¥ Y ofd Uit &l il &A1

2. HAIE® E9 U g el &1 Sreieu S
3. 0 B B d Fs Ada

4. %01 Ufd! &1 die g1

Options :

17807014737. 1
17807014738.2
17807014739. 3
17807014740. 4

Question Number : 11 Question Id : 1780703726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is incorrect about racemic mixture?

1. Racemic mixture causes finite rotation of plane polarized light
2. It is often designated as (¥)

3. (F) -2-butanol is a racemic mixture

4. Plane polarized light remains invariant inside a racemic mixture

Options :

17807014741. 1
17807014742.2
17807014743. 3
17807014744. 4

Question Number : 11 Question Id : 1780703726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014741. 1
17807014742.2
17807014743.3
17807014744. 4

Question Number : 12 Question Id : 1780703727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The Russian Chemist, Mendeleev, is remembered for organizing the elements into periodic table. He received many
honours, the greatest of which is having an element named after him. Element ................ is Mendelevium.

1.100
2.101
3.102
4.103

Options :

17807014745. 1
17807014746. 2
17807014747. 3
17807014748. 4

Question Number : 12 Question Id : 1780703727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. 100.
2.10
3.102
4.103

Options :

17807014745. 1
17807014746. 2
17807014747. 3
17807014748. 4

Question Number : 13 Question Id : 1780703728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a characteristic of a catalyst?

1. A catalyst lowers the activation energy of a reaction

2. A catalyst increases the spead of a reaction

3. Only a small quantity of catalyst is needed in a chemical reaction
4. A catalyst is used up during the reaction

Options :

17807014749. 1
17807014750. 2
17807014751. 3
17807014752. 4

Question Number : 13 Question Id : 1780703728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014749. 1
17807014750. 2
17807014751. 3
17807014752. 4

Question Number : 14 Question Id : 1780703729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reduction has taken place if a substance.....

1. gains oxygen

2. increase its oxidation state
3. gains hydrogen

4. loses electrons

Options :

17807014753 1
17807014754.2
17807014755. 3
17807014756. 4

Question Number : 14 Question Id : 1780703729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014753. 1
17807014754.2
17807014755. 3
17807014756. 4

Question Number : 15 Question Id : 1780703730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Reaction of alkanes with halogens such as chlorine and bromine proceeds through......

1. Free radical substitution mechanism
2. Electrophilic substitution mechanism
3. Nucleophilic substitution mechanism
4. Decomposition mechanism

Options :

17807014757. 1
17807014758.2
17807014759. 3
17807014760. 4

Question Number : 15 Question Id : 1780703730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014757. 1
17807014758.2
17807014759. 3
17807014760. 4

Question Number : 16 Question Id : 1780703731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

........................... is the breaking down of long chain hydrocarbons into smaller molecules.

1. Decomposition
2. Catenation

3. Cracking

4. Combustion

Options :

17807014761. 1
17807014762. 2
17807014763. 3
17807014764. 4

Question Number : 16 Question Id : 1780703731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014761. 1
17807014762.2
17807014763. 3
17807014764. 4

Question Number : 17 Question Id : 1780703732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following set consists of only planar species?

1. KEF4. BF;. pC|3
2. XeFs, AlF3, NCl3
3. XeFs BF3AICKH
4. XeF4, BF3, BCl3

Options :

17807014765. 1
17807014766. 2
17807014767. 3
17807014768. 4

Question Number : 17 Question Id : 1780703732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Frafafad dife! & forg geg | Had wqdd fadl (@dieften gidl 87

1. XeFs, BFs3, PCly
2. ){EF:L A|F3. NC|3
3. ){E'Fg.. BF;. A|C|3
4. ){EF:L BF;. BC|3

Options :

17807014765. 1
17807014766. 2
17807014767. 3
17807014768. 4

Question Number : 18 Question Id : 1780703733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following is the most reactive aldehyde towards nucleophilic addition reactions?

1. Formaldehyde
2. Acetaldehyde
3. Crotonaldehyde
4. Benzaldehyde

Options :

17807014769. 1
17807014770. 2
17807014771. 3
17807014772. 4

Question Number : 18 Question Id : 1780703733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014769. 1
17807014770. 2
17807014771. 3
17807014772. 4

Question Number : 19 Question Id : 1780703734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two isotonic solutions cannot have the same value of

1. osmatic pressure

2. density

3. elevation in boiling point

4. depression in freezing point

Options :

17807014773. 1
17807014774.2
17807014775. 3
17807014776. 4

Question Number : 19 Question Id : 1780703734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014773. 1
17807014774.2
17807014775. 3
17807014776. 4

Question Number : 20 Question Id : 1780703735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An aromatic compound will
(A). have (4n+2)m electrons
(B). be conjugated
(C). be planar
(D). be cyclic
Choose the correct answer from the options given below:

1.4 ) and (D) only.
2. (B), (C) and (D) only.
3. (A), (B), (C) and (D).

4. (A), (B) and (C) only.

A), (B
L
A
a

Options :
17807014777. 1
17807014778.2

17807014779. 3
17807014780. 4

Question Number : 20 Question Id : 1780703735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014777. 1
17807014778. 2
17807014779. 3
17807014780. 4

Question Number : 21 Question Id : 1780703736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sl unit of pressure is ....

1. pascal
2. atm

3. torr

4. newton

Options :

17807014781. 1
17807014782.2
17807014783. 3
17807014784. 4

Question Number : 21 Question Id : 1780703736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014781. 1
17807014782.2
17807014783. 3



17807014784. 4

Question Number : 22 Question Id : 1780703737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement 'There is a plenty of room at the bottom' was given by

1. Albert Einstein

2. Isaac Newton

3. Richard Feynman
4. Linus Pauling

Options :

17807014785. 1
17807014786. 2
17807014787. 3
17807014788. 4

Question Number : 22 Question Id : 1780703737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014785. 1
17807014786. 2
17807014787. 3
17807014788. 4

Question Number : 23 Question Id : 1780703738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is a top down approach for the synthesis of nanomaterials?

1. Chemical vapour deposition
2. Physical vapour deposition
3. Ball Milling

4. Sol gel process

Options :

17807014789. 1
17807014790. 2
17807014791. 3
17807014792. 4

Question Number : 23 Question Id : 1780703738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

17807014789. 1
17807014790. 2
17807014791. 3
17807014792. 4

Question Number : 24 Question Id : 1780703739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Millikan's famous oil drop experiment established that

1. Electric charge is quantized

2. Mass is quantized

3. Energy of an atom is quantized
4. Workfunction is quantized

Options :

17807014793. 1
17807014794. 2
17807014795. 3
17807014796. 4

Question Number : 24 Question Id : 1780703739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014793. 1
17807014794.2
17807014795. 3
17807014796. 4

Question Number : 25 Question Id : 1780703740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following is not the unit of energy?

1. Electron-volt
2. Joule

3. Newton-metre
4. Pascal

Options :

17807014797. 1
17807014798. 2
17807014799. 3
17807014800. 4

Question Number : 25 Question Id : 1780703740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014797. 1
17807014798. 2
17807014799. 3
17807014800. 4

Question Number : 26 Question Id : 1780703741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An element naturally occurs in two isotopic forms. Which of the following statements is correct?

1. Mass number of the two isotopes are same.
2. Atomic number of the two isotopes are same.
3. Number of nucleons are same.

4. Number of neutrons are same.

Options :

17807014801. 1
17807014802. 2
17807014803. 3
17807014804. 4

Question Number : 26 Question Id : 1780703741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014801. 1
17807014802. 2
17807014803. 3
17807014804. 4

Question Number : 27 Question Id : 1780703742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The laws of reflection and refraction are true for all surfaces and pairs of media at the

1. point of incidence
2. point of refraction
3. angle of incidence
4. angle of reflection

Options :

17807014805. 1
17807014806. 2
17807014807. 3
17807014808. 4

Question Number : 27 Question Id : 1780703742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

17807014805. 1
17807014806. 2
17807014807. 3
17807014808. 4

Question Number : 28 Question Id : 1780703743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The dimensions of electrical conductivity is

1. [TA]
2. [ML*T3A2]
3. [ML3T2A%
4. [MLT3AT]

Options :

17807014809. 1
17807014810. 2
17807014811. 3
17807014812. 4

Question Number : 28 Question Id : 1780703743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=

[4ggd dIcddl &I fqad & -

1. [TA]

2. [MLPT3A)
3. [ML3T3A8
4, [MLT3AT]

Options :

17807014809. 1
17807014810. 2
17807014811. 3
17807014812. 4

Question Number : 29 Question Id : 1780703744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given carbon resistor, the resistance is 2.4 X 10%°Q. The sequence of colours in the strips provided on resistor is

1. red, yellow and green

2. red, yellow and blue

3. brown, orange and green
4. red, green and yellow

Options :

17807014813. 1
17807014814. 2
17807014815.3
17807014816. 4

Question Number : 29 Question Id : 1780703744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



U T B UfeRiyE S Uy 2.4 X 1060 B MG W TR UEa BTN HIHHE & --

1. T1E, el SR &
2. arq, g 3R e
3. Y1, ARET AR &
4. 16, 89 AR drar

Options :

17807014813. 1
17807014814.2
17807014815. 3
17807014816. 4

Question Number : 30 Question Id : 1780703745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The packing fraction of a crystal structure is 74%. The crystal structure is

1. Simple cubic structure

2. Face-centred cubic structure
3. Body-centred cubic structure
4. Crystal structure of Tungsten

Options :

17807014817. 1
17807014818.2
17807014819. 3
17807014820. 4

Question Number : 30 Question Id : 1780703745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ot fipeed Wa1 @1 U 3UId 74 % o fbhed WA --

1. G3d 99 WA

2. BOd $Higd g1 TGl
3. Ha: Bigd 9 W

4. 2T B foheed T

Options :

17807014817. 1
17807014818.2
17807014819. 3
17807014820. 4

Question Number : 31 Question Id : 1780703746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An s- orbital may combine with p- orbital provided that lobes of p- orbital are

1. perpendicular to the axis joining the nuclei

2. pointing along the axis joining the nuclei

3. making an acute angle with the axis joining the nuclei
4. making an obtuse angle with the axis joining the nuclei

Options :

17807014821. 1
17807014822.2
17807014823. 3
17807014824. 4

Question Number : 31 Question Id : 1780703746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U s- B p-Ha&d & Y e B THhdl & Jic p-Da&® & Us &
1. 914 Y HaIford 814 dId & & daad

2. Ty | Haiford 819 aTet 31 &1 3R 3f1d &d gu

3. 1N § TOIfd g1F ATl 3181 & Wiy T 4 DIV &-1d §U

4. 1Y § HIford 819 aTcl 38 & 1Y U 3feid HIv 91d §U

Options :

17807014821. 1
17807014822.2
17807014823. 3
17807014824. 4

Question Number : 32 Question Id : 1780703747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Lyman spectral series is found in .o region of spectrum

1. Ultraviolet
2. Visible

3. Infra red
4. Microwave

Options :

17807014825. 1
17807014826. 2
17807014827. 3
17807014828. 4

Question Number : 32 Question Id : 1780703747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



JUIEHH G.......... &7 § TI3E qUHHT 3Raa UTS ol 5

1. TRISTHT
2.7

3. A
4. GEAT

Options :

17807014825. 1
17807014826. 2
17807014827. 3
17807014828. 4

Question Number : 33 Question Id : 1780703748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Newton's laws of classical mechanics are replaced in quantum mechanics by ....

1. Snell's Law

2. Schrodinger's equations
3. Maxwell's equations

4. Laplace equation

Options :

17807014829. 1
17807014830. 2
17807014831. 3
17807014832. 4

Question Number : 33 Question Id : 1780703748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

micH tifia! # e & gifie! & Faat of ufarnfug foar m g--
1. 90 & FHgF g
2. YifETR & gl g

3. HRIdd & 9@l gRI
4. T GHIH0 gRI

Options :

17807014829. 1
17807014830. 2
17807014831. 3
17807014832. 4

Question Number : 34 Question Id : 1780703749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Principal Quantum number represents

1. Quantization of angular momentum magnitude
2. Quantization of angular momentum direction
3. Quantization of energy

4. Space quantization

Options :

17807014833. 1
17807014834.2
17807014835. 3
17807014836. 4

Question Number : 34 Question Id : 1780703749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1. HIIg 3T URHT ST BB
2. DIy "7 2 &1 Sria
3. $ooll B BB

4. MBI BT B

Options :

17807014833. 1
17807014834.2
17807014835. 3
17807014836. 4

Question Number : 35 Question Id : 1780703750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is incorrect as per rules for Linear Combination of Atomic Orbitals (LCAQ)?

1. The atomic orbitals overlap as much as possible

2. Overlap of corbitals has to be as low as possible

3. The atomic orbitals should be of same energy

4. Symmetry of two atomic orbitals must remain unchanged or both change symmetry in the same manner

Options :

17807014837. 1
17807014838.2
17807014839. 3
17807014840. 4

Question Number : 35 Question Id : 1780703750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TRATY H&d! & ad Gared (U, Hl. T o) & FE! & oaR Fafiiad o § oF w1 fade Tad &

1. TR BT Tl do 94 & JffaenE &3d &

2. BE®I & Hfaar fod=1 §yd g a1 &9 g1 91y

3. URHIY] HE&d GHH SHoll & i gyl

4. 1 TR Hadi @ gaffa smitafdd B 9ifgt 91 6! 99H ¥4 ¥ gafifd 95ad 8|

Options :

17807014837. 1
17807014838.2
17807014839. 3
17807014840. 4

Question Number : 36 Question Id : 1780703751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If an element of high electronegativity combines with an electropositive metal then the product will be

1. an interstitial alloy
2. an ionic compound
3. a substitutional alloy
4. a simple mixture

Options :

17807014841. 1
17807014842.2
17807014843. 3
17807014844. 4

Question Number : 36 Question Id : 1780703751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ofg foddt 3= faggamunardal & dd &1 faggauATd arel urd J dgad far &iral 8, dl Sdrg gin

1. T Ui fHyg
2. U@ S AT
3. Uh Ufa@y-g fsng
4, Tch QYR fagor

Options :

17807014841. 1
17807014842.2
17807014843. 3
17807014844. 4

Question Number : 37 Question Id : 1780703752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Acetophenone and Benzaldehyde can be distinguished by:
(A). Tollens reagent

(B). DNP test

(C). lodoform test

(D). Carbylamine test

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A) and (C) only
3. (A) and (B) only
4. (B) and (D) only

P e e ]

Options :

17807014845. 1
17807014846. 2
17807014847.3
17807014848. 4

Question Number : 37 Question Id : 1780703752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

URIEITh- 3R Sufcees & forhs gRI 3 &l ol 9l &, 98 &
(A) TIeTE SftpHe

(B) STTUT T&0T

C) TATSIHIE T

(D) PISTCH e

- g e fawedt & 9 et I

1. ad (A), (B) 3R (D)
2ﬂﬁﬁcAjaﬁ?
3.33_&[(;3\)61’1?
4.%ad (B) 3R (D

Options :

17807014845. 1
17807014846. 2
17807014847. 3
17807014848. 4

Question Number : 38 Question Id : 1780703753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Explanation for occurrence of monovalency in Group 13 is given by .........

1. Pauli's Exclusion Principle
2. Hund's Rule

3. Inert Pair effect

4. Isotope effect

Options :

17807014849. 1
17807014850. 2
17807014851. 3
17807014852. 4

Question Number : 38 Question Id : 1780703753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e 13 ¥ UHTAeHd] &1 gl &1 PieRv] ol gR1 531 ™18, 98 & --

1. Gicil 3fadeid Fad
2. g @ fgg

3. 3ffhT gm gyTg
4. TS UHIE

Options :

17807014849. 1
17807014850. 2
17807014851. 3
17807014852. 4

Question Number : 39 Question Id : 1780703754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of electromagnetic waves?

1. Alpha rays

2. Beta plus rays
3. Beta minus rays
4. Gamma rays

Options :

17807014853. 1
17807014854.2
17807014855. 3
17807014856. 4

Question Number : 39 Question Id : 1780703754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Fafafad # 9 oF W fdggd 3o ig a3 &1 U6 3ae &7

1. eI faul

2. dter @y favot
3. dfer Ay foxuf
4. 77791 fgsuf

Options :

17807014853. 1
17807014854.2
17807014855. 3
17807014856. 4

Question Number : 40 Question Id : 1780703755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following properties is not observed in the case of Superconductors?

1. Meissner Effect
2. Formation of Cooper pairs
3. Paramagnetism
4. Zero resistivity

Options :

17807014857. 1
17807014858. 2
17807014859. 3
17807014860. 4

Question Number : 40 Question Id : 1780703755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Frafafaa & fvw o ol & sferoe! & a<d & 98 Saamr e

1. - gHTd

2. TR FH BT84
3. S DE

4, TR UieRIeddl

Options :

17807014857. 1
17807014858. 2
17807014859. 3
17807014860. 4

Question Number : 41 Question Id : 1780703756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Newtons's law of cooling is a special case of

1. Wien's displacement law
2. Kirchhoff's law

3. Stefan’s law

4. Planck's law

Options :

17807014861. 1
17807014862. 2
17807014863. 3
17807014864. 4

Question Number : 41 Question Id : 1780703756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

17807014861. 1
17807014862. 2
17807014863. 3
17807014864. 4

Question Number : 42 Question Id : 1780703757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The centre of negative charge distribution in a molecule may or may not coincide with the centre of the positive charge
distribution. If it does not coincide, each molecule has a permanent dipole moment. Such materials are called

1. polar materials

2. non-polar materials

3. ionic materials

4. covalent bonded materials

Options :

17807014865. 1
17807014866. 2
17807014867. 3
17807014868. 4

Question Number : 42 Question Id : 1780703757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



et 310 & FHUTH® 19 G0 & dx YIS 1A TR0 & dx & 1Y Uuwdh 81t 9dhdl & a1 -1a) 411 3% g8 Surdht
&, o udw o) v Rl fya omgul g1 &1 0 venl o se W g

1. gdig uerd

2. iy uard

3. AafHE e

4. Gedaad e gard

Options :

17807014865. 1
17807014866. 2
17807014867. 3
17807014868. 4

Question Number : 43 Question Id : 1780703758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A dielectric slab is inserted between the plates of an isolated capacitor. The force between the plates will

1. increase

2. remain unchanged
3. decrease

4. become zero

Options :

17807014869. 1
17807014870. 2
17807014871. 3
17807014872. 4

Question Number : 43 Question Id : 1780703758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ua faafia Sula &1 wiel & o9 e Widegd ufe T STar ardl g1 el & s ad

1. 9¢ ST

2. eufeafdd @
3. 9 ST

4, FRT Bl S

Options :

17807014869. 1
17807014870. 2
17807014871. 3
17807014872. 4

Question Number : 44 Question Id : 1780703759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If no thermal energy is developed as the charge goes through the battery, then such a battery is called

1. an ideal battery
2. an ideal dielectric
3. an ideal capacitor
4. an ideal resistor

Options :

17807014873. 1
17807014874.2
17807014875. 3
17807014876. 4

Question Number : 44 Question Id : 1780703759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1Y & 9 © T W If IS d1d1g Sl fasied 781 gidl 8, 31 39 SR &1 9edl D1 Sl ol &

1. T Mgy gl

2. U 3c® WIdggd
3. U g g
4. T 3 ufeRiys®

Options :

17807014873. 1
17807014874.2
17807014875. 3
17807014876. 4

Question Number : 45 Question Id : 1780703760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a discharge tube electric conduction does not occur due to the movement of

1. positive ions
2. negative ions
3. electrons

4. protons

Options :

17807014877. 1
17807014878.2
17807014879. 3
17807014880. 4

Question Number : 45 Question Id : 1780703760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Options :

17807014877. 1
17807014878.2
17807014879. 3
17807014880. 4

Question Number : 46 Question Id : 1780703761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following in the order of increasing acidic strength
(A). HC
(B). HBr

(C). HI

(D). HF

Choose the correct answer from the options given below:

1. (A), (B), (C). (D).

2. (D), (A). (B), (Q).

3. (B). (A), (D). (C).

4. (C), (B). (A), (D).
Options :

17807014881. 1
17807014882. 2
17807014883. 3
17807014884. 4

Question Number : 46 Question Id : 1780703761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FofaRaa ®f 3% <y yaadl & S¢d »H § 0afyd &1

(A) HCI
(B) HBr
(C) HI
(D) HF
I fau U famedl 9 wE S| 9|
1. (A), (B), (C). (D)
2. (D), (A). (B). (C)
3. (B). (A), (D). (©)
4. (C), (B). (A). (D)
Options :

17807014881. 1
17807014882. 2
17807014883. 3
17807014884. 4

Question Number : 47 Question Id : 1780703762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following in the order of increasing wavelength
(A). Lyman
(B). Balmer
(C).Paschen
(D). Brackett

Choose the correct answer from the options given below:

Options :

17807014885. 1
17807014886. 2
17807014887. 3
17807014888. 4

Question Number : 47 Question Id : 1780703762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Fafafad aftm &1 396! e & dod HH H afd &1

(A) cligHH
(8) SR
(C) UigH
(D) Sdhe
I fau U famedl 9 wE S| 91|
1. (A), (B), (C). (D)
2. (D), (). (B). (A)
3. (B). (A), (D). (©)
4.(C), (B). (D). (A)
Options :

17807014885. 1
17807014886. 2
17807014887. 3
17807014888. 4

Question Number : 48 Question Id : 1780703763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following metals in the order of increasing work function
(A). Potassium (K)
(B). Cesium (Cs)
(C). Platinum (Pt)
(D). Calcium (Ca)

Choose the correct answer from the options given below:

Options :

17807014889. 1
17807014890. 2
17807014891. 3
17807014892. 4

Question Number : 48 Question Id : 1780703763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fafafad urgsil @1 3¢ PG & dod HH H aiyd &
(A) HIefRmTH ()

(B) T (Cs)

(C) wife= 9 (pt)

(D) BfcTEH (Ca)

- fgu T faweat # ¥ |Et W H

Options :

17807014889. 1
17807014890. 2
17807014891. 3
17807014892. 4

Question Number : 49 Question Id : 1780703764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following in the order of increasing first ionization energy
{(A).Beryllium (Be)
(B).Boron (B)
{(C).Lithium (Li)
(D).Carbon (C)

Choose the correct answer from the options given below:

Options :

17807014893. 1
17807014894. 2
17807014895. 3
17807014896. 4

Question Number : 49 Question Id : 1780703764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fafeiad o gl smE-ieu Sul & ded HH J Hafyd &
(#) SRITH (Be)

(8) IR (B)

(C) <ifeg (L)

(D) BTE (Q)

I feu e fasenl & 9 |Et IR 9|

Options :

17807014893. 1
17807014894. 2
17807014895. 3
17807014896. 4

Question Number : 50 Question Id : 1780703765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following components in the order of their function in power supply
(A). Voltage regulator
(B). Rectifier
(C). Transformer
(D). Filter

Choose the correct answer from the options given below:

Options :

17807014897. 1
17807014898. 2
17807014899. 3
17807014900. 4

Question Number : 50 Question Id : 1780703765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Fafafad geo! ®f fascd s1gfd § 396 o1 & 8 | afyd 11
(A) diecd Foa®

(8) faparl

(C) THBIER

(D) fibee
I fau U famedl 9 wE S| 9|

Options :

17807014897. 1
17807014898. 2
17807014899. 3
17807014900. 4

Question Number : 51 Question Id : 1780703766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following events in an increasing order (calender year)
(A). Nobel Prize in Physics for Photoelectric Effect
(B). Nobel Prize in Chemistry for Quantum Dots synthesis and Applications
(C). Nobel Prize for the invention of Scanning Tunneling Electron Microscope
(D). Nobel Prize to Max Planck for his Quantum Theory

Choose the correct answer from the options given below:

Options :

17807014901. 1
17807014902. 2
17807014903. 3
17807014904. 4

Question Number : 51 Question Id : 1780703766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Tafeiad ge-sil & dgd $H (hos qu) H oJaieyd &
(A) UPTRIGYd WHIE & Y Hifcas! 1 Hisic [T R

(B) BicH Sicy TN AR HFHART & [oT TURHF fa5H o Aled [HR
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(D) T Wi @l 3 Died RIGid & [T Aldd [TPR
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Options :

17807014901. 1
17807014902. 2
17807014903. 3
17807014904. 4

Question Number : 52 Question Id : 1780703767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following nanomaterials in the order of increasing degree of freedom
(A). Bulk material
(B). Graphene Sheet
(C). Quantum Dot
(D). Carbon Nanotubes

Choose the correct answer from the options given below:

Options :

17807014905. 1
17807014906. 2
17807014907. 3
17807014908. 4

Question Number : 52 Question Id : 1780703767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Fafiaa e aw o [dad B Difc & T6d & HH | FaRyd B
(A) (@) R e
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(C) TicH Sle
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Options :

17807014905. 1
17807014906. 2
17807014907. 3
17807014908. 4

Question Number : 53 Question Id : 1780703768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following exists as a covalent crystal in the solid state?
(A). Sulphur

(B). lodine

(C). Phosphorus

(D). Silicon

Choose the correct answer from the options given below:

A) and (C) only
D) only
B) and (D) only

{
{
{
(A), (B) and (C) only

1.
2
¥
4.

Options :

17807014909. 1
17807014910. 2
17807014911. 3
17807014912. 4

Question Number : 53 Question Id : 1780703768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FafaRad 5 9 ®1F 91 319 a9 # Ygsdeie fhed & w0 H A6 87
(A) Hcthy

(B) IS

(C) BIEBRY

(D) faferant
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Options :

17807014909. 1
17807014910. 2
17807014911. 3
17807014912. 4

Question Number : 54 Question Id : 1780703769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following electron acceptors of Z-scheme of photosynthesis based on the movement of electron from
Pgap onwards.
(A) Iron-Sulphur Proteins
(B) Ferrodoxin
(C) Plastocyanin
(D) Plastoquinones

Choose the correct answer from the options given below:

Options :

17807014913. 1
17807014914.2
17807014915. 3
17807014916. 4

Question Number : 54 Question Id : 1780703769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



DT YAV B Z-Gioi1 & FRfafad saaei- Wil @ Pegy U AT STdi- & RIMTGRU & YR TR AaRYd B

(A) HTERA-THR UIEH

(B) BRISaT

(C) WREEEET

(D) @EIf@AE

- fgu v faweat # ¥ |8t W H

Options :

17807014913. 1
17807014914. 2
17807014915.3
17807014916. 4

Question Number : 55 Question Id : 1780703770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following events in an order that explains the bulk flow of substances in the phloem from the source.
(&), Water diffuses into the sieve tube slements
(B). Leaf cells produce sugar by photosynthesis
(C). Solutes are actively transported into sieve elements
(D). Sugar is transported from cell to cell via the apoplast and /or symplast

Choose the correct answer from the options given below:

Options :

17807014917. 1
17807014918. 2
17807014919. 3
17807014920. 4

Question Number : 55 Question Id : 1780703770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Frafafad geel @ th U8 0 H wafd & ol s H Uerdl & W@id ¥ ®[d Wdie (s Ual) &1 AR Sdl 6
(A) U e At J Gafa s e

(B) U=H @1 BITRGHIE UHT UITHY] GRT ¥ B 3G Hdl &

() Gcafra Ty Y Aot eEuai H g Sid §

(D) T DI TUIERE SiR/A1 FiwRe & arad d SIe T SIfe H o 9@l 9 &
I fau U famedl © § | S 97|

Options :

17807014917. 1
17807014918. 2
17807014919. 3
17807014920. 4

Question Number : 56 Question Id : 1780703771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Light Emitting Diode (LED) is a

1. lighty doped p-n junction with low operational voltage

2. heavily doped p-n junction with low operational voltage and fast on-off switching device
3. high operational voltage device

4. slow on-off switching device

Options :

17807014921. 1
17807014922.2
17807014923. 3
17807014924. 4

Question Number : 56 Question Id : 1780703771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

THIY Ivid SHIS (Tasal &

1. BH YdIeH diced & 1Y g&A fAfig (81s) p-n SiawE

2. ®Y YdIeH dicedl R did HH-H1P Rafi1 Sudru & Uiy YRl SIS p-n Se=H
3. 3= UdlcH dlt‘gi\il GUDP

4, e, fEafei off9- 31w Iuau

Options :
17807014921. 1
17807014922.2



17807014923.3
17807014924. 4

Question Number : 57 Question Id : 1780703772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
lonic compounds are
(A). made up of positive and negative ions and attraction between ions is electrostatic
(B). ionic bonds are non-directional
(C). melting point and boiling point are usually low
(D). usually soft
Choose the correct answer from the options given below:

nd (D) only.

1. (&) and

2. (A), (B) and (C) only.
3. (A) only

4. (A) and (B) only.
Options :

17807014925. 1
17807014926. 2
17807014927. 3
17807014928. 4

Question Number : 57 Question Id : 1780703772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mafe A
(A) YD IR BUTES MG S T Bd & IR AT & a1d KR 9G54 P &Il &
(B) 3OS gy FaTE® g1 &

(C) HTAIFI: oD 3R ®Yie Y 8d &

(D) IHEG: RIS &
d feu e fawenl o U |8t IR 4|

Options :

17807014925. 1
17807014926. 2
17807014927. 3
17807014928. 4



Question Number : 58 Question Id : 1780703773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the followings are three terminal device?
(A). Zener diode
(B). Photodiode
(C). Bipolar Junction Transistor
(D). Field effect Transistor
Choose the correct answer from the options given below:
- (A),
- (A),
(
(

1 (
2 (
3. (C) and (D} only
4 a

Options :

17807014929. 1
17807014930. 2
17807014931. 3
17807014932. 4

Question Number : 58 Question Id : 1780703773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FafaRed § 9 B 9 & 2 Ius 82
(A) SR S8

(B) BICIETS

(c) Tersgdiar Sia=m giferer

(D) &3 UG Tifereex

il feu e fameul § 9 |8t IR 3

1. ad (A), (B) 3R (D)
2. %ad (A), (B ]GTF{[{;)
3ﬂﬁﬁcc18ﬁ?
4.%ad (8) 3R (D

Options :

17807014929. 1
17807014930. 2
17807014931. 3
17807014932. 4

Question Number : 59 Question Id : 1780703774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



When the elements react to form compounds, negative free energy change (AG) means
(A). spontaneous reaction

(B). free energy of the products are higher than that of reactants

(C). very high activation barrier

(D). exergonic reactions

Choose the correct answer from the options given below:

nd (D) only.
nd (C) only.
, (C) and (D).
D) only.

;—-\OJOJ

—_—

Options :

17807014933. 1
17807014934. 2
17807014935.3
17807014936. 4

Question Number : 59 Question Id : 1780703774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o1d dd g1 FHfor o g AR &vd 8, df FTeRIES o Sl Ulkadd (AG) &1 Y g-
(A) Tad: HAfiHar
(B) SHIGl B o Fall HIUBHRS! B qa-1 5 AU gidl &

C) 3ifd 3= Ty TR @R
(D) HoNET (TEmsi-o) Wiafhand
I fau U famedl 9 | S| 91|

1. @4d (A), (8) 3R (D )

233_&[;3\) (B) 3R (C
tcwﬁ?cD}

4aa_dﬁmaﬂ?(o}

Options :

17807014933. 1
17807014934.2
17807014935. 3
17807014936. 4

Question Number : 60 Question Id : 1780703775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



On descending the group from Li to Nato K to Rb to Cs
(&), metallic radius increases

(B). melting point and boiling point decreases

(C). density decreases

(D). ionization energy decreases

Choose the correct answer from the options given below:

A) and (B) only.
B) and (C) only.
A), (B) and (D) only.
A), (C) and (D) only.

P e

1.
2
3. (A)
4. (A)
Options :

17807014937. 1
17807014938. 2

17807014939. 3
17807014940. 4

Question Number : 60 Question Id : 1780703775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
PO TEY LY NadKY Rb Y Cs I Aid 3H 0
(A) &g e a6 &

(B) TTeHIh 3R HYHI® &H Bl 9ld &
(C) 9-icd BH B ldl &

(D) SMTIH 3ol HH Bl Sl &
I feu e faseul & 9 |Et IR 9|

Options :

17807014937. 1
17807014938. 2
17807014939. 3
17807014940. 4

Question Number : 61 Question Id : 1780703776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In Cubic lattice,

(A). for face centred cubic (fc) lattice, effective number of atoms per unit cell is 2

(B). for body centred cubic (bec) lattice, effective number of atoms per unit cell is 4

(C). a=b=c, and a =p = y = 907, where g, b, ¢ are edge lengths and o, B, y are axial angles
(D). for simple cubic (sc) lattice, effective number of atoms per unit cell is 1

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (C) and (D) only.

4. (B), (C) and (D) only.

(B
(B

Options :

17807014941. 1
17807014942. 2
17807014943. 3
17807014944. 4

Question Number : 61 Question Id : 1780703776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

PRIBICIRCEE)

(A) Bd®d disd 99 (fcc)) SIeid o 1Y, Uid Sobls Ua H URHIIH &I UHId §=1 2 §
(B) <Hd:bisd U (bec) WIEid o (1Y, Ui SdbIg Udl H URHTVSHT &I WHId] S=A14 §
(Cla=b=c 3R a=p=y=090° T a b, c [FIX B A5 & AR a, B, y H&T BV 2]
(D) TR U (sc) el o 1, ufd gobrs U # GeAmvpef &t uyrdi 9= 18

4 feu e faweul § 9 W@ IR

Options :

17807014941. 1
17807014942. 2
17807014943. 3
17807014944. 4

Question Number : 62 Question Id : 1780703777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following are correct statements?

(A). Hydrogen bond is weaker than covalent bond.

(B). CH4 has covalent bonds.

(C). Covalent compounds do not conduct electricity except diamond.
(D). Graphite is a soft solid and a good conductor of electricity.
Choose the correct answer from the options given below:

and (D) only.
and (C) only.
. (C) and (D).
a

{
{
{
{ nd (D) only.

1.
2
3
4,

Options :

17807014945. 1
17807014946. 2
17807014947. 3
17807014948. 4

Question Number : 62 Question Id : 1780703777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fafcied & 4 @1 € oud 98l 87

(A) BTESIeH =, Ygddiad 9% Y BHR oidl &

(B) CH, H Ugddle® g% §id §

C) 8 & [Uarg, Ygudieis difie faggd dreid ol oid 8

S

(D) YBT3 Udb JIH 314 & 3R faggd &1 arad o
I fau U famedl 9 wE S| 9|

Options :

17807014945. 1
17807014946. 2
17807014947. 3
17807014948. 4

Question Number : 63 Question Id : 1780703778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which option is true for Fischer projection formulas?

(A). They must be kept in the plane of paper.

(B). They are not allowed to flip them over.

(C). They must be rotated in the plane of paper by 90°.
(D). They must be rotated in the plane of paper by 180°.
Choose the correct answer from the options given below:

A), (B) and (D) only.
A), (B) and (C) only.
A), (B), (C) and (D).

{
{
{ C

(B) and (D) only.

1.
pl
%
4.

Options :

17807014949. 1
17807014950. 2
17807014951. 3
17807014952. 4

Question Number : 63 Question Id : 1780703778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFRR vaun G & O & 91 fAeed el &

(A) 38 IS & ad H 3@ 91 9118y

(B) 3 UieH @I AN e &

(C) 3% BN & aa 4 90° &3 a gH/™r 9FI 9ifey
(D) 3% BITA & ad | 180° &I da gar o =ifee
4 feu e faweul § 9 98 IR

Options :

17807014949. 1
17807014950. 2
17807014951. 3
17807014952. 4

Question Number : 64 Question Id : 1780703779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following halides will undergo s,2 reaction?
(A). Chlorobenzene

(B). Benzyl chloride

(C). tertiary-butyl chloride

(D). n-butyl chloride

Choose the correct answer from the options given below:
(B) and (D) only.

(B), (C) and (D) only.
(A), (B) and (D) only.
(

C) and (D) only.

A

1.
%
3.
4. (A

) (
) (

Options :

17807014953. 1
17807014954. 2
17807014955.3
17807014956. 4

Question Number : 64 Question Id : 1780703779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fafcfed 5 4 dH 9 gaEs s,z Hftfpar axiwn
(A) FIRTSH

(B) e RIRTSS

(C) AT SIT5T HWIRISS

(D) n-SgCTE IS

I feu e fadedl 5 © et I 3|

Options :

17807014953. 1
17807014954.2
17807014955. 3
17807014956. 4

Question Number : 65 Question Id : 1780703780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The third law of thermodynamics relates to

1. the entropy of a perfect crystal at absolute zero temperature.
2. the relation between work and heat.

3. evolution of entropy of a system with time.

4. conservation of mass.

Options :

17807014957. 1
17807014958. 2
17807014959. 3
17807014960. 4

Question Number : 65 Question Id : 1780703780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1. U 90 a199H W U quf foreed &1 G
2. & 3R FHH & 7Y Iy

3. 999 & 914 Uah FHarg &1 G 7 gfS

4, FoTH GI&T

Options :

17807014957. 1
17807014958. 2
17807014959. 3
17807014960. 4

Question Number : 66 Question Id : 1780703781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11

List-1 List-11
Law Phyical Quantity/ Phenomenon
(A). Snell's Law (I). Perfect Dimagnetism

(B). Messiner Effect (). Refractive Index

(C). Brewster's Law (I11). Polarized Light

(D). Photoelectric Effect|(IV). Quantum theory of light

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (). (D) - (IV)
3. (A) - (). (B) - (1N, (C) - (IV), (D) - (1)
4. (A) - (1), (B) - (V). (C) - (). (D) - (IN)



Options :

17807014961. 1
17807014962. 2
17807014963. 3
17807014964. 4

Question Number : 66 Question Id : 1780703781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-1 BT G -1 D F1Y FHe= 9

-1 8]

o vifas arn/afvaeme
(A) W @ 99 (1) gof ufegraa

(B) TR U4E (Il) 3IadT®H

(C) & @1 fgH (i yffad T

(D) UHTI faggq uHTa (IV) UhTRl &1 HicH [gid
I fau e fadedl 7 9 wE S| 9|

1. (A)-(I1), (B)-(1). (C)-(11), (D)-(IV)

2. (A)-(11), (B)-(1m, (C)-(D), (D)-(IV)

3. (A)-(1), (B)-(I). (C)-(1V), (D)-(111)

4. (A)-(1), (B)-(1V), (C)-(1), (D)-(11)

Options :

17807014961. 1
17807014962. 2
17807014963. 3
17807014964. 4

Question Number : 67 Question Id : 1780703782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11

List-1 List-11

Atom Electronegativity value (on Pauling Scale)
(A). Li (0. 1.0

(B).Na (. 0.7

Q. K (111). 0.9

(D). Cs (IV). 0.8

Choose the correct answer from the options given below:

1. (A
2. (A
3. (A
4. (A

)= (). (B) - (1), (C) - (V). (D) - (D)
)= (). (B) - (1), (C) - (), (D) - (V)
)= (). (B) - (), (Q) - (V). (D) - (1)
) - (1), (B) - (V). (C) - (). (D) - (1)
Options :

17807014965. 1

17807014966. 2

17807014967. 3

17807014968. 4

Question Number : 67 Question Id : 1780703782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-1 B HeT-1 D F1Y FHe= $L

-1 -

TTHTY ﬁwmmﬁrr H (Uiter M W)

(A) Li (1

(B) Na (0.7

QK (1) 0.9

(D) Cs (V) 0.8

Ad feu 7 faweal o U |et 3R 4|

1. (A)-(1), (B)-(l), (C)-(1V), (D)-(1)

2. (A)-(1), (B)-(11), (C)-(n), (D)-(1IV)

3. (A)-(D), (B)-(1N), (C)-(1V), (D)-(li)

4. (A)-(1), (B)-(1V), (©)-(1). (D)-(In)
Options :

17807014965. 1
17807014966. 2
17807014967. 3
17807014968. 4

Question Number : 68 Question Id : 1780703783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11

List-1 List-11

Name of the Carbon compound Oxidation state of the Carbon
(A). Methanol (. -2

(B). Formaldehyde (.o

(C). Formic Acid (. +

Choose the correct answer from the options given below:

1. (A) -
2. (A) -
3. (A) -
4. () -

1), (B) - (1), (C) - ()
1), (B) - (1), (C) - (I
1. (B) - (11, (€) - (1)
1), (8) - (1, (€) - (1)

— — — —

Options :

17807014969. 1
17807014970. 2
17807014971. 3
17807014972. 4

Question Number : 68 Question Id : 1780703783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-1 &1 G-I & 1Y e &<

- GSial
P AP BT A P BT HTTHIBIVT TR
(A) HETa n -2
(B) BIHSEIES ay o
C) BIH® 3T () + 2

rd few e faoeul H 9 |8t IR 4|

1. (A)-(1), (B)-(10), (C)-(10)

2. (A)-(), (B)-(1), (C)-(1)

3. (A)-(In), (B)-(, (C)-(D)

4. (A)-(1), (B)-(In, (C)-()

Options :

17807014969. 1
17807014970. 2
17807014971. 3
17807014972. 4

Question Number : 69 Question Id : 1780703784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11

List-1 List-1I
Molecules Most Reactive towards
(A). Ethyl bromide 0. sp!

(B). Tertiary butyl bromidel(I1).5y°

(C). Acetone (I).Electrophilic substitution

(D). Benzene (IV).Nucleophilic addition

Choose the correct answer from the options given below:

1. (A
2. (A
3. (A
4. (A

)= (1), (B) - (1), (C) - (IV), (D) - (1)
)= (). (B) - (1), (C) - (), (D) - (V)
)= (). (B) - (), (Q) - (V). (D) - (1)
) - (1), (B) - (V). () - (). (D) - (D)
Options :

17807014973. 1

17807014974. 2

17807014975. 3

17807014976. 4

Question Number : 69 Question Id : 1780703784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-1 BT G -1 D F1Y FHe= 9

-1 -
30 o fom watfus sfufsramfa
(A) Ud SRS () Sn’
(B) TP SEEd SHES (I1) Sp2
() TEeH () SeEeRET el biem) UfdRia
(D) Sl (1) THRT grTe
d feu 7 faweal o U |et IR 4|
1. (A)-(11), (B)-(1), (C)-(1V), (D)-(11)
2. (A)-(1), (B)-(1n), (Q)-(1n), (D)-(IV)
3. (A)-(1), (B)-(11), (C)-(1v), (D)-(11)
4. (A)-(1), (B)-(IV), (C)-(1), (D)-(n)
Options :

17807014973. 1
17807014974. 2
17807014975. 3
17807014976. 4

Question Number : 70 Question Id : 1780703785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11

List-1 List-11
Number of carbon atoms Number of structural isomers
(A). C4Hqp (n.2

(B). CsHq2 .3

(C). CgHng (1. 5

(D). GiH1g (V). 9

Choose the correct answer from the options given below:

1. (A
2. (A
3. (A
4. (A

= (0. (B) - (1), (C) - (V). (D) - (1)
= (0. (B) - (1), (C) - (), (D) - (V)
= (0. (B) - (1), (C) - (IV), (D) - (1)
= (0. (B) - (1), (C) - (1), (D) - (V)

Ll L

Options :

17807014977. 1
17807014978. 2
17807014979. 3
17807014980. 4

Question Number : 70 Question Id : 1780703785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-1 BT G -1 D F1Y FHe= 9

- -
BT TIHTYLSHT BT T TEATHS GHT9ga! ST &
(A) C4H1p n 2
(B) CsHqz (n 3
(C) CgH1a (ny 5
(D) CH1g () 9
Ad feu 7 faweal o U |et IR 4|
1. (A)- (1), (B)-(11), (C)-(1v), (D)-(11)
2. (A)-(1), (B)-(111), (C)-(10), (D)-(1V)
3. (A)-(1), (B)-(11), (C)-(1v), (D)-(111)
4. (A)-(1). (B)-(11), (C)-(10), (D)-(1V)

Options :

17807014977. 1
17807014978. 2
17807014979. 3
17807014980. 4

Question Number : 71 Question Id : 1780703786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11

List-1

List-11

{A). Biolistics

(). Gene pulser

(B). Agrobacterium

(I). PDS 1000/He

(C). Electroporation

(1. Micromanipulator,

(D). Microinjection

(IV). Vir C1

Choose the correct answer from the options given below:

1. (A) - (0. (B) - (I, (C) - (1), (D) - (IV)

2. (A) - (), (B) - (IV), (C) - (1), (D) - (1)

3. (A) - (0. (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (1), (B) - (V), (C) - (1), (D) - (IN)
Options :

17807014981. 1
17807014982. 2
17807014983. 3
17807014984. 4

Question Number : 71 Question Id : 1780703786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

-1 &1 G-I & 1Y e &<

- -1t
(A) FEIfaRe® (1) S TWed (TR
(B) THIaaIgH (1) PDS 1000/He
(C) ST U (111) ATSH AR
(D) AEHI SolgEH ov) TR ¢
- fou e faeed! 4 9 9t S T
1. (A)-(1), (B)-(10), (C)-(11), (D)-(IV)
2. (A)-(11), (B)-(1V), (©)-(1), (D)-(1
3. (A)-(1), (B)-(I0), (C)-(1V), (D)-(110)
4. (A)-(11), (B)-(IV), (C)-(1), (D)-(1)
Options :

17807014981. 1
17807014982. 2
17807014983. 3
17807014984. 4

Question Number : 72 Question Id : 1780703787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11

List-1 List-11

(A). Ammonification |(I). conversion of atmaospheric nitrogen into ammaonia

(B). Denitrification  |(Il). conversion of organic nitrogen into ammonium

(C). Nitrification (111). conversion of nitrite or nitrate into atmospheric nitrogen

(D). Nitrogen fixation|(IV). conversion of ammaonia into nitrate and nitrite

Choose the correct answer from the options given below:

1. (A) - (), (B) - (1), (C) - (1), (@) - (IV)

2. (A) - (), (B) - (1), (C) - (V), (D) - ()

3. (A) - (0. (B) - (I, (C) - (IV), (D) - (1)

4. (A) - (1), (B) - (V), () - (1), (D) - (IN)
Options :

17807014985. 1
17807014986. 2
17807014987. 3
17807014988. 4

Question Number : 72 Question Id : 1780703787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-1 &1 G-I & 1Y e &<

-1 -1
(A) TSI (). IGHST ATSCeH BT HHIHE1 H TR0
(8) famsdimem (Il) BTEH® ATeero @I 3Eg9 § wuia
(ORIEEET (1) TgeTse A1 Al5ce &1 S g 1 Uiy
(D) TTSgioH fRHR (V) S B 15 e 3R A13eEe H TUIRU
I feu T fadent § § WEt S 91|
1. (A)-(1), (B)-(10), (C)-(111), (D)-(IV)
2. (A)-(11), (B)-(1m, (C)-(IV), (D)-(1)
3. (A)-(1), (B)-(I0), (C)-(1V), (D)-(110)
)- (1l

Options :

17807014985. 1
17807014986. 2
17807014987. 3
17807014988. 4

Question Number : 73 Question Id : 1780703788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11

List-1

List-11

(A). DNA footprinting

(1). Protein-Protein interaction

(B). Yeast two hybrid system

(1. VNTR

(C). DNA Fingerprinting

(111). DNA binding proteins

(D). SAGE

(IV). Transcriptome analysis

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (@) - (IV)

2. (A) - (1), (B) - (I, (C) - (I, (D) - (V)

3. (A) - (), (B) - (0, (©) - (), (D) - (IV)

4. (A) - (1), (B) - (V), (C) - (1), (D) - (IN)
Options :

17807014989. 1
17807014990. 2
17807014991. 3
17807014992. 4

Question Number : 73 Question Id : 1780703788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

-1 &1 G-I & 1Y B e

-1 -1l
(A) ST Geftifen (1) IEH-UeH 3fa:femar
(8) e @l () eefas fawes (11) STTEIMR (VNTR)
(C) 31 U € ThRfiifE (1) 31 T T SRS UidH
(D) TH U Sl 3§ (SAGE) (v) Zafepps fagayu
I fou T fowent & ¥ 9t S T
1. (A)-(1), (B)-(10), (C)-(111), (D)-(IV)
2. (A)-(1), (B)-(111), (C)-(10), (D)-(V)
3. (A)-(1), (B)-(1), (Q)-(11), (D)-(IV)
4. (A)-(1), (B)-(IV), (C)-(1), (D)-(1)

Options :

17807014989. 1
17807014990. 2
17807014991. 3
17807014992. 4

Question Number : 74 Question Id : 1780703789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1




Match List-1 with List-11

List-1 List-11

Coordination compound Crystal Field stabilization energy (ignore pairing energy)
(A). [Fe(CN)l* (). 0Dg

(B)- [Cu(CN)g]* (.-24Dq

(C). [Ni(Cha]* (). -6Dg

(D). [Zn(CN)sl* (IV). -12Dq

Choose the correct answer from the options given below:

1. (A
2. (A
3. (A
4. (A

)= (). (B) - (1), (Q) - (Im), (D) - (V)
)= (1), (B) - (), (C) - (V). (D) - ()
)= (). (B) - (), (Q) - (V). (D) - (1)
) - (1), (B) - (V). (C) - (). (D) - (1)
Options :

17807014993. 1

17807014994. 2

17807014995. 3

17807014996. 4

Question Number : 74 Question Id : 1780703789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-1 B HeT-1 D F1Y FHe= $L

-1 -1
IUHEHASA TS foreea &= Rfiew o=t (g Swi o1 IufaE 59)
(A) [Fe(CN)gl* (1) 0Dq
(B) [Cu(CN)e]* (1-24Dq
(C)- INi(Che]* (Il -4Dgq
(D) [Zn(CN)s]* ] (V) -8Dq
T f&u 71U faseul U |Et 3w I |
1. (A)-(1), (B)-(). (C)-(1), (D)-(IV)
2. (A)-(I), (B)-(1n, (C)-(IV). (D)-(1)
3. (A)-(1). (B)-(1). (C)-(1V), (D)-(1)
4. (A)-(I1), (B)-(V). (C)-(1). (D)-(11)

Options :

17807014993. 1
17807014994. 2
17807014995. 3
17807014996. 4

Question Number : 75 Question Id : 1780703790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11

List-1 List-1l
Compounds Related properties
(A). Aniline (1). meta director and deactivator

(B). Nitrobenzene [(ll). o & p director and deactivator

(C). Chlorobenzene|(Ill). o & p director and activator

(D). Allene (IV).Central atom sp hybridized

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (0. () - (), (D) - (V)
2. (A) - (1), (B) - (), (C) - (), (D) - (IV)
3. (A) - (). (B) - (1N, (C) - (IV), (D) - (1)
4. (A) - (V). (B) - (1), {C) - (), (D) - (1)

(
(

Options :

17807014997. 1
17807014998. 2
17807014999. 3
17807015000. 4

Question Number : 75 Question Id : 1780703790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-1 BT G -1 D F1Y FHe= 9

-1 -1l

30 wefira mored

(A) U 1) Ter Fee IR Ffkeus
BEIFECEIE] () o & p Fdw® IR FiSpas
(C) TRARISTSAH (ay o & p FEew AR feas
(D) e (IV) 51 TRHTY sp HHid
2 feu e A edl § 9 w8 SR 44

1. (A)-(1), (B)-(1), (C)-(1N), (D)-(IV)
2. (A)-(1), (B)-(ID), (Q)-(1), (D)-(IV)
3. (A)-(1). (B)-(10), (Q)-(1V). (D)-(11N)
4. (A)-(IV), (B)-(ti, (C)-(), (D)-(1)

 (©)-(F
 (©)-(F

Options :

17807014997. 1
17807014998. 2
17807014999. 3
17807015000. 4



